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SA: SRS
HE: mAAN U
Ee: mAAE XA TR
M- BB Sl (B) - HIRAY - Ba S s ot S D=2
= 3,000
402 BI2HXH=201 ™ 30,000 0 30,000
01 QItXI=2E X 30,000 0 30,000
ONMgssaan Ax(dL) 30,000
=t=aZd &4 1,400,000 600,000 800,000
= 700,000
= 700,000
401 A& HIZ 2 CHYI 1,400,000 600,000 800,000
= 700,000
= 700,000
01 Al£Hl 1,394,000 597,750 796,250
OZA=X HWERD =42 T4 (101L) 1,394,000
= 697,000
= 697,000
03 AI& 2 0HHI 6,000 2,250 3,750
OEAN=X UEHT sMd =4 6,000
= 3,000
= 3,000
SEIIALE 2H 9,400 0 9,400
201 Bt A | 9,400 0 9,400
01 At 2teltl 9,400 0 9,400
OsFIIAIAE AIZAAHIZ(23]) 9,000
OBAAYNAE AANLY 400
SHEEA =24 940,350 550,450 389,900
= 426,950
| 18,000
& 96,500
= 398,900
SHEEM »~E 818,700 401,800 416,900
= 377,000
L= 95,500
= 346,200
HF=ZL 29 10,700 12,800 A2,100
201 Et2dd| 10,700 12,800 A2,100
02 2323l 10,700 12,800 22,100
Oz332= & HAl 10,700
—otd=ZEHA 7,800
—of == HA 1,300
—EL2HHA 1,600
diZsZdZEAs K& 35,000 35,000 0
308 AtXICHM S 01 35,000 35,000 0
05 XX SHH2EES 35,000 35,000 0
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_ - A -
SN EB -GS - MBAY - BES 01l &k o e HRE2
O8ZZeAHls 23 35,000
IEEsE HS N 9,000 10,000 A1,000
201 YEr2 | 9,000 10,000 A1,000
01 At 22l 3,000 4,000 A1,000
OBAZQIER 222 M 3,000
02 ZT2YH| 2,000 2,000 0
OUIIEZY R4 2,000
03 & A2 2t 4,000 4,000 0
O2a0tA 017 HQ & 4,000
SAEQIEN QIMES X 20,000 30,000 £10,000
2 10,000
= 3,000
2 7,000
301 e a3 20,000 30,000 10,000
2 10,000
= 3,000
2 7,000
12 B A3 20,000 30,000 £10,000
OBAZQIER QMES X2 20,000
2 10,000
= 3,000
2 7,000
B ZRAIE X2 574,000 0 574,000
2 287,000
= 86, 100
2 200,900
401 A& HIL 2 THY| 574,000 0 574,000
2 287,000
= 86, 100
2 200,900
01 Al& 8] 574,000 0 574,000
OBAINZAEL HSF LFAE &3 574,000
2 287,000
= 86, 100
2 200,900
SMAH BE TR 60,000 14,000 46,000
2 30,000
2 30,000
201 Yer2 | 50,000 14,000 36,000
2 25,000
2 25,000
01 At 22l 16,000 7,000 9,000
Odrl2lH ESXA ARB2Y 16,000
2 8,000
2 8,000
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10,000
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A 100,000

100,000
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4,400
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7,000

200,000

200,000
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90,848
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2,450
2,450
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34,000
34,000
17,000
17,000
10,000

e

5,000
5,000
10,000
10,000
5,000
5,000

fir

m

100,000
50,000
50,000

100,000
50,000
50,000

100,000

100,000
50,000
50,000
10,000

6,400
3,600
10,000
6,400
3,600
10,000
10,000
6,400
3,600

fir

fir

fir
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rH
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rH
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95,248
49,750
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SA BEEED
MM BACA XM
Col: BFY X CERCE
S _ - rSIE[=S =
A -3 -H2A(SH) - HEAMY - BES (il & OH '@E% Hos
301 LB A 2,500 2,500 0
12 B2 A2 2,500 2,500 0
Ot I 20t 500
O%=ZE0F 500
ORSER0 500
OOFM S A2 2 0F 500
OJIEt B#BAD B4 500
HoX Ha 1,900 1,900 0
201 LBr2 Y| 1,900 1,900 0
01 At 22l 900 900 0
OHBZE HA OGHYEN P 900
02 ZTZ2H| 1,000 1,000 0
OFsix =20y 28X 1,000
NG E2S =& 6,000 8,480 A2,480
201 LBr2 Y| 3,000 3,480 A 480
01 At 22l 3,000 3,480 480
OTAHBHE AQE S 3,000
206 T 2 4l 3,000 5,000 A2,000
01 X 2l 3,000 5,000 A2,000
OENZ 5 3,000
NS HEIA R 2,500 16,580 A 14,080
201 YBr2 Y| 1,000 1,500 A500
02 BB22H| 1,000 1,500 A500
Oz H BEHA 1,000
206 T 2 bl 1,500 2,080 A580
01 X 2l 1,500 2,080 580
OBZEH)| BB 1,500
OISR 23 49,750 50,000 250
= 49,750
401 Al EHIZ 201t 16,000 0 16,000
= 16,000
01 Al 16,000 0 16,000
OFIINSX EHoITet A5 16,000
= 16,000
405 XtarE S| 33,750 50,000 A 16,250
= 33,750
01 R USZH S| 33,750 50,000 A 16,250
OFIIKSH(10H) 33,750
= 33,750
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A 1,350
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A5,250
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16,605

12,721

25,537

LH3r
m<l
Rk

1,200

900
900

2,550

1,750

9,000
9,000

11,750

2,500
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8,200
8,200

508,343

90,023

18,200
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736
351
1,132
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1,200
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m
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400

200
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fir
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4,000
4,000
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SN BRECD
M Nl 25
Sl S - AZ 22 (el &2
: _ o HEC -
SN-EHH . SH(BH) - HPAY - BE2 O] Ak 4 il b o B2
402 212 XH2 01 & 43,737 18,200 25,537
2 21,869
= 10,934
2 10,934
01 UAXEHE 43,737 18,200 25,537
OOFMSS TIGH0I(HIISRI| &X) 43,737
2 21,869
= 10,934
2 10,934
OFMESSTEHEA X 31,807 33,243 A1,436
= 9,542
2 22,265
301 YBHE A 31,807 33,243 A1,436
= 9,542
2 22,265
EPIEEE! 31,807 33,243 A1,436
OOFMES Tai24 N 31,807
= 9,542
= 22,265
ONSE 25 9,200 5,700 3,500
201 YBr2 Y| 700 700 0
01 A2 22l 700 700 0
OOMSE MoH2a MRS BA4+L 700
206 T 2t 8,500 5,000 3,500
01 HEHI 8,500 5,000 3,500
OOFMES 2101%)| Ha7 2,000
OOMES XIR%E P 1,500
OR#HES: ZAXNH WE 7Y 2,000
O] OINSS TIHLXE BS 3,000
BANEDST2IY X 6,000 2,880 3,120
2 4,200
= 900
2 900
201 YBr2 Y| 6,000 2,880 3,120
2 4,200
= 900
2 900
01 A2 22l 6,000 2,880 3,120
OAME NIDI P 6,000
2 4,200
= 900
2 900
MENH DR QHSAZS B 2,000 30,000 18,000
= 6,000
2 6,000
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FA 3T
¥ geEd 2
Lt

CHel: LIHIME B2 22| - 29 (chol M)
(=] o = = T I|_-|LI;=|_||:_ =
N33 S2(3H) - MEAMY - BES Off &F OH Ol Ak O BlusZ
01 M EH 17,000 17,000 0
OUHIAIE HE 7Y 2,000
oz2s 2¢ 3,000
OUHIME 2 E=HE He 2 2,000
gldl, HIZ S 7 10,000
401 Al & HI L2 THY| 40,000 10,000 30,000
01 AlZHI 40,000 10,000 30,000
OB HAL 25 30,000
OReMelAE ZHl 22 10,000
Xelery BEpL 118,800 16, 150 102,650
= 50,000
x 68,800
Teis Brue 4,000 2,250 1,750
201 LBt | 2,000 250 1,750
01 A2 22l 2,000 250 1,750
OAFRRUAX QLY 242rat 2,000
301 LeteE A3 2,000 2,000 0
10 #ALAIHI 2 A 2 2,000 2,000 0
ORiEs 8= ¢ WS 2,000
MElEHEEZ X 14,800 13,900 900
307 ©12+0I & 14,800 13,900 900
03 ALSIEHHI 2 X2 14,800 13,900 900
Odsisiduy 25 N 4,800
OxteiEsdsizgols g5 N 10,000
MEHZHZ XIRTH 7= 100,000 0 100,000
= 50,000
a 50,000
307 BI12+0I & 100,000 0 100,000
= 50,000
z 50,000
02 RIHFAEE 100,000 0 100,000
OMEHZIZ A A S 100,000
= 50,000
= 50,000
ZESEL T4 - 29 151,850 276,890 125,040
ZEstza el 144,350 134,850 9,500
201 LBt | 51,050 41,550 9,500
01 A2 2telH 25,700 15,700 10,000
O] 25,700
—ZE3E4 HIE P 20,000
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SN BALED
M HOl2 N
SR PN T (25l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il i~ o B2
—Jle2 3,040
—ERaY 608
—MEEE 352
201 YEr2gy| 6,000 0 6,000
01 At 22| H] 6,000 0 6,000
oYxz 6,000
—Rox HEIIH 2 UEHIIS 3 6,000
301 YLrB A3 31,000 31,800 £800
12 JIEt2 &2 31,000 31,800 A800
OMESE +3F2Z L NAS 31,000
—WEEE +TFAS 20,000
—RNLT HEEE 243 0,000
~HEBEBE 4T 243U A2 1,000
HHlE 012 63,000 52,500 0,500
= 1,000
= 11,500
2 40,500
301 YBrE4Z 63,000 52,500 10,500
= 11,000
= 11,500
= 40,500
12 JIEH2 42 63,000 52,500 10,500
OHHIY 432y 63,000
= 11,000
= 1,500
2 40,500
SopIg AN E &X 5,000 10,000 25,000
= 2,500
2 2,500
206 T2t 5,000 10,000 25,000
= 2,500
2 2,500
01 T2t 5,000 10,000 5,000
Osorely £28 2 5,000
= 2,500
2 2,500
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